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Instruction:

(i) There are in all 30 questions in this question paper. All questions are
compulsory.

(ii) Marks allocated to every question are indicated against it.

(iii) Question No. 1 is multiple choice type question. Question Nos. 2 to 6 are

- of one mark each. Question Nos. 7 to 15 are of two marks each.

Question Nos. 16 to 24 are of three marks each. Question Nos. 25 to
30 are of four marks each.

1, wmémmﬁmﬁwﬁm%ﬁﬁ%lﬂﬁﬁmmmmﬁ
RRad)- 1x6=6

Four options are given in each part of this question. Write the correct answer in
your answer book—

() uasﬁmﬁm%aﬂﬂas‘rﬁﬁmaﬂéwél s‘ﬂﬁa'aqaﬂpﬂnmﬂﬂaﬁ E‘Pﬂ

A solution turns red IItITlUS to blue. Its pH-value is likely to be-
(0 1 _ (i) 4
git) ., 7 : S(iv) - 10
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()

()

(3)

(1)

fastas ot &1 T 9 &

The chemical formula of Bleaching powder is-.

() 5Cato; (i) CaOCl,

(iiiy- Ca(OH), - (iv) CaO

forafer & weprer & T & '

The speed of light in vacuum is- :

(i) 3x10%® m/s (i) - 3x10'° m/s

(iii) 331 m/s (iv) 2x10%® m/s

URIRFAE & foRaus A U8 F1a- SIEIRITES, STd a1 Ha11 ad1 & 3R ug fpar
() DR H (iy SwedH

(iiiy HISCTDIZaT H (iv) BRdcas# _

The breakdown of Pyruvate to give carbon-dioxide, water and energy takes
place in-

(i) cytopiasm (i) nucleus

(iii) mitochondria (iv) chloroplast

faga UicRTer &7 S.1. 71 &- |

() 3w - (iy TR
(i)  dT (iv) 3NH-Hex

The S.I. unit of electric resistance is- :

(. & Ohm (i) Ampere

(iii)  Voit (iv) Ohm-metre

Forer 3 2 oter < ey e ¥ oY ey R BT 9 e o1 e e e -
() TN (i) ARG

(i) 3 (iv)  3mif=ar

Which of the following gas shields the surface of earth from Ultraviolet

radiations from the sun-

(i) Fluorine (i) Nitrogen
(iii) Ozone : (iv) Ammonia
233 (HOI) cJd2y '
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2. Tefownmum sfifear & ve FemRor &5 | oAt

Give an example of double displacement reaction.

3. TP Mo ador ot agbar 3o 25 . 21 g Wi gl ot 8re =

The radius of curvature of a spherical mirror is 25 cm. What will be its focal

length?

4. miFRER & gl &1 giteal o1 A Sl : 1
Mention any two methods of contraception.

5. 3 PO &F @Y UH-GIR B Ticeda o3l T8l dxell &7 1

Why don't two magnetic fieid lines intersect each other?

6. g Fria<oia dur sta el yerel! &1 Ua-Us 3ETeR0T ST

Give one example each of biodegradable and non-biodegradable substances.

7. WX 305 URE & @ & Ty tafear &1 wexer oiled aer g9 & 3udi O
GRIEu | 2

Write an equation to show the reaction of Plaster of Paris with water and give'its

m—dh

two uses also.

8. e ramafts TRl @1 Wefera Sifme- 1+1=2
Balance the following chemical equations-
() Fe+H,0—»Fe,0,+H, (&) NaCH+H,S0,-»Na,S0,+H,0

9. TJ-TRNUT AT R-RNTUT H 3R W DI | 2

Differentiate between Se!f—poliihation and Cross-pollination.

10. WIS & Urad ¥ @R oI a7 Yffer &7 el 2
What is the role of saliva in the digestion of food?
11. (@) 39 3o @1 T foiRkads 3 dtell & et qen @fie waol &1 g BT gl
Write the name of tissue which transport water and minerals in plants.

(@) 3meT ¥ fgdss &1 oaa fom Ry ewrfse i 1

Show binary fission in Amoeba only by figure.

—
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12. 2 R acal § I 60W, 240V TIT 40W, 240V 3ifea &1 oo 2 e TR TS
IR MU Bt | | ' ' 2
There are two electric bulbs marked 60W, 240V and 40W, 240V respectively.
Which one of them has higher resistance? Calculate. '

13. (%) 3im @1 From T 8? 1

What is Ohm's Law?
(@) Tt o1 efir-ae o foad | 1
State Fleming's right-hand rule.

14. w1l & 3ad= & o faRed) 2
Write laws of refraction of light.

15. aﬁweﬁmsﬁaﬁﬁmwaﬁmaﬂ%umﬁé@rw%ﬁaﬁl - i)
Why should we conserve forests and wildlife? Write any two reasons.

16. a‘fac—cﬁxmyésmmasm 12 g 17 &l
The two elements x and y have atomic nos. 12 and 17 respectively.

(@) x G y B oD TG e | 1
Write the electronic configuration of x and v.
(@) x qT y s kol 3§ waf Rea #? 1
Where the elements x and y are placed in periodic table?
(M) 5 aedt § B g T BiF veng €° 1
Which is metal and which is non-metal in these elements?
JAUdl (OR)
aﬂ%mwﬁwﬁ%ﬁma&mwﬁﬁﬁﬁmﬁwaﬁml
Compare and Contrast the arrangement of elements in Mendeleev's Periodic
Table and the Modern Periodic Table. -
' 233 (HOI) [4]
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(®) mﬁmﬁmmwﬁﬁ?ﬁ%aﬁsﬁaﬁ’mﬁgﬁmml FR
What do you understand by covalent bonds? Give electron dot structure

for methane.

(@) safE diftie o1 e S Fdi Bl 6P iy
Why do ionic compounds have high melting points?
18. (®) %@ﬁrmmmaﬁeﬁmﬁsmmmﬁﬁ 1
Give an example of a non-mental which is a liquid at room temperature.
@)ﬁmﬁmwm%pammﬁﬁwéﬁm 2
What are amphoteric oxides? Give two examples of amphoteric oxides.
19. mﬁﬁlﬁaﬂqaﬁmﬁmﬁﬁ@ﬁésmmé?ﬂwl ' 3

20.

21. (@)

What are the advantages of sexual reproduction over asexual reproduction?

Explain.

Wﬁﬁmmwawﬁammsﬂﬁﬁmﬁﬁaﬁmaﬁm@
1%2+1%2=3
Draw a neat and clean diagram of Human excretory system and label the

following parts in it-

() T (i) TarE (i) TAR™
Kidney Ureter ~ Urinary bladder
3121aT (OR) '
‘OFa g&d’ awmq&amﬁmsﬂﬁﬁmﬁﬁaﬁmﬁm

1‘/2+11/2 3

Draw a neat and clean sectional view of 'Human Heart' and show the following

parts in it-

(i) TEEEEr (i) <t anfer (iii) ST e
Aorta Right atrium ' Left ventricle
eBTT IR G &7 TSN ERUT AT oY I TRl fefed | 2

What is Photosynthesis? Write chemical equation of Photosynthesis

process.

233 (HOI) ' o L [ P.TO.
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22.

23.

(W) USTZH o1 &7 USTISH &1 D18 U6 B oilkaay| ' 1

What are Enzymes? Write any one function of Enzyme.

'ﬁgﬁﬁﬁ'ﬂﬂ%ﬁmmmﬁmmﬁmﬁ%ﬁm@l 3

Explain the principle and working of 'Electric Motor' by drawing its labelled

diagram.
3AAdT (OR)
TH T/ & 969 IR 5V d27 500 mA 3ifsd 21 519 o - 14+141=3
A torch bulb is rated 5V and 500 mA. Calculate-
(®) cd DI It
Power of bulb
(@) g9 BT ufaRrer

Resistance of bulb
(1) 2 el ST R 68 §RT 3UTH a1t

- Energy consumed by bulb when it is lighted for 2 hours

4TI T 9%, 20 V. B g AT IefeT o F 30 Y, B g R | ¥ R

- & aret sfafer & Reifey, st qen smeR s AR 3

An object 4 cm in length is placed at a distance of 30 cm, from the convex lens
of focal length 20 cm. Find the position, nature and size of the image formed by

the I_ens. ;
24, mﬁaa@rmwmﬁ%?wﬂsgmmaﬁmaﬂqaﬁ%ﬁl | 3
What do you mean by Ecosystem? Describe its major components.
25. (&), dcT UaH Y WM Ve & Ageie & Y @l fear ST &7 o
~ Why the oil and fat containing food items are flushed with nitrogen?
(@) IarieRor siffsar o seresor wfed wagmme] 2
Describe Neutralisation reaction with example.
3El (OR)
(@) 3Meff-ieb 3m1adt AROT & ser smaet 3 3ufkerd aet & g Rifaa) 1
Write the name of elements present in first period of modern periodic table.

233 (HOI) [6]
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26.

27.

R

(@) B P o RS & 9 Pfel A

Write the name of two allotropes of carbon.

() wfegw arg o1 el & 96 § galeR i 3@ S 7 1
Why is Sodium metal kept immersed in Kerosene oil? ‘

(a) Afchaar SO g &7 ' 1
What is the Reactivity Series?

() T BraT & 319 (Fadt Iy THexoT iRkad)- | 2

What happens when (write only chemical equation)-
() TS @ Sican engiovss faao & e ™ a=a €
- Zinc is heated with Sodium hydroxide solution.

(i) EfsTm sEeEHe (3fdT A o R foar s &1

Sodium bicarbonate (Baking Soda) is heated.

(@) XeTorer 3ifiicean I 3a g1 THE &7 U IATER0T AN AHIE| 2
What do you understand by Redox reaction? Explain with an example.

(%) aMa H g &1 fomr FHerfRor & g 22 2
How is the sex of child determined in human beings? -

(W) E.09.0. IR & o § a1 e &2 W S 2

What is the importance of DNA copying in reproduction? Clarify.

e wfereresar & o sfmmg 27 ol e & L s aun A Aer & R @1 SRRy

4 02| 0 varf & o 37 AR @1 uRRYe @ grm, Fore) ward % qoT TeTS 2A &7
4

What is meant by electrical lresistiv'ity? A wire of a given material having length L
and area of cross-section A nas a resistance of 4 Q. What would be the
resistance of another wire of the same material having length % and area of
cross-section 2A? :

‘ JYar (OR)
20, 30T 60 & 1 HicRTerD B o5 JaR wAr o 51 b s o1 oot s
(i) 4 (i) 1Q 8P TALS UM 2 §E IR Hied aeied| LA

How can three resistors of resistances 2Q, 3Q and 6Q be connected to give a
total resistance of (i) 4Q (ii) 1Q? Show with diagram giving
necessary calculation.

233 (HOI) [7] b ‘ ~ [P.T..
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29. (®)
()

()

30. (oh)

()

3T & e T G Taw SIS RfEel 1

Write the formula and SI unit of power of lens.

FR' % b oIeT TN & T B &7 it 1
Why 'danger' signals are red in colour?
wma&wmﬁﬁmwﬁﬁwmaﬁ&hfﬁﬂwmm
Safcs- - 2
() a%q, 2dv1 & gd (P) T BIH (F) S &rd &l '

(i) o], TYUT B Tghel B (C) AT BIcd (F) F 9 &1l

Draw ray diagram to show the image formation of an object by a
concave mirror, when the- '
(i) object is in between pole (P) and focus (F) of the mirror.

(i) object is in between centre of curvature (C) and focus (F) of the

mirror.
g2 &g S & a1 oY &2 FHSRe] - 2
What are the advantages to built big dams? Explain.
yofaRoT B aa & e fheel IR SeR & 'R’ &I AMIecid Hiisie| 2
Mention the name of any four 'R' to save the environment.

3121dT (OR)

() = o e 3 e (R & %) Sad o o srave 87 2

(&)

Why do we need to use our resources carefully? : ‘
T AT st o 27 g few oY gRew gal? ‘ 2

What is Ganga Action Plan? In which year it was launched?

% ok ok k%
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